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General Instructions :

(i) This question paper contains 34 questions. All questions are

compulsory.
(it)  This question paper is divided into two parts — Part — A and Part — B.
(iti) Part — A is compulsory for all candidates.

(tv) Part — B has two options i.e. (I) Analysis of Financial Statements and
(1) Computerised Accounting. Candidates must attempt only one of the

given options as per the subject opted.
(v) Question Nos. 1to 16 and 27 to 30 carries 1 mark each.
(vi)  Question Nos. 17 to 20, 31 and 32 carries 3 marks each.
(vit) Question Nos. 21, 22, and 33 carries 4 marks each.
(vitt) Question Nos. 23 to 26 and 34 carries 6 marks each.

(ix) There is no overall choice. However, an internal choice has been
provided in 7 questions of one mark, 2 questions of three marks, 1

question of four marks and 2 questions of six marks.
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(AT Wi e st 3 fore orate)
1. (a) ar auT @9 Uh BH % AIPER  qUT 3 : 2 % I1ATd ° o9-g1i Sied & | SThl
Tt 95t shAeT: % 90,000 TR 2,10,000 off | 3= 1 378, 2022 1 wiosy §

@Y % 1/59 W % foru frareft o6t weh T amgieR s | fiareft st 4sh % ferg
% 1,50,000 @18 | fercreft & waiw1 o B 561 et BT west B -

(A) *3,00,000 B) ¥ 7,50,000
(C) %1,50,000 (D) ¥ 30,000
JAYAT

(b) < qeT f TTEIER & @ 5 : 3% U § Y Siedl § | 3= oy § 3/83 9T
& fotu forn 1w T wreier s, fSEest 2/84T Wit 39 ofin & e 1/84T W
T & v fema | s, e e femm 61 7@ oy T St g
A 3:2:3 B) 2:3:3
(C) 5:5:6 D) 9:1:6

2. T, GO qeT B T BH o HTEIER 9 9UT 3 : 2 ¢ 1% I1ATd H oY died 9 | A BH
T YT B T | gue < Fafaei s fafr B gue o % 30,000 33 9 | A9 HigeRi A
Tt foren fo6 3@ @ ram i anfies fopwat & weet o <hi wmfeq & wmy heeh fopam
@ | % 30,000 T FEAEOT = 0§ he @1 § foman SR 2
(A) FAT T RO G
B) gu % fsaTes *H1 @I
(C) guH 1S @Il
(D) GAT 1 =] G

3. afrerem (A) : drSiel WA AR o HeT FEY B S SIGER I o sied % oY Tgnd gu

2 Torent gemer aefl g steren el o fore foreht wop gru fpan smaeman 2 |

FRUT (R) : 9f¢ T HISGR THH Yo 1 IS ATHR HTAT § 9T Y 6 A1 Tl
HAT 7, Al T8 IHBT AGT HUT qUT @™ & 3fora qeft A9 1 Pra= w4
AT |

fr=fefiaa o @ g€ foeea o1 =em AT

(A) THI (A) 7T (R) T £ |

(B) THI(A) 7T (R) T @ |

(C) THI(A) T (R) W21 2 a1 (R), (A) 1 9t e 2 |

(D) THI (A) 7T (R) T8l € 71 (R), (A) 3! 92 AT = 2 |
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PART - A
(Accounting for Partnership Firms and Companies)

1. (a) Nita and Samar are partners in a firm sharing profits in the ratio of
3 : 2. Their fixed capitals were T 90,000 and ¥ 2,10,000 respectively.
They admitted Mitali on April 1, 2022 as a new partner for 1/5th
share in future profits. Mitali brought ¥ 1,50,000 as her capital. The

value of goodwill of the firm on Mitali’s admission was : 1
(A) ¥ 3,00,000 B) T7,50,000
(C) %1,50,000 (D) 30,000

OR

(b) Bina and Ria are partners sharing profits in the ratio of 5 : 3. They
admitted Siya as a new partner for 3/8th share which she acquired
2/8th from Bina and 1/8th from Ria. The new profit sharing ratio of

Bina, Ria and Siya will be : 1
A 3:2:3 B) 2:3:3
(C) 5:5:6 M) 9:1:6

2. Nita, Suman and Harish were partners in a firm sharing profits in the
ratio of 3 : 2 : 1. Suman retired from the firm. On the date of Suman’s
retirement, ¥ 30,000 was due to her. The remaining partners decided to
pay her in three yearly instalments starting from the end of the first year.

% 30,000 will be transferred to which of the following account : 1
(A) Suman’s Loan Account (B) Suman’s Executor’s Accounts
(C) Suman’s Bank Account (D) Suman’s Current Account

3. Assertion (A) : Partnership is the relation between persons who have
agreed to share the profits of the business carried on by all or any of
them acting for all. 1

Reason (R) : If a partner carries on any business of the same nature and
competing with that of the firm, he/she shall account for and pay to
the firm all profit made by him/her in that business.

Choose the correct option from the following :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are incorrect.

(C) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(D) Both (A) and (R) are correct and (R) is not the correct explanation of (A).

67/5/3 AN Page 5 P.T.O.



it AfHar qem wHet T ®H o HIReR 9 aUT 5 2 ¢ 3% U H A -7 sied o |
30 S, 2022 %! @i 1 9 71 T8 | ArEier] Horg § yang™ ot foh foret ot wmgier i
T & 9 gy i fafer 7o wH & 71 H I8eh W hl 0T Free fF |t o 3fted o
H ¥ % 10,000 TR hT STRAT |

oot o ot % A 9
T T /A (%)

31 4, 2020 1,20,000

31 7, 2021 (50,000)

31 9T, 2022 1,70,000
Ty 1 farfer qeh e o et o1 9T o
(A) ¥ 35,000 B) 9,583
(C) % 28,750 (D) % 8,750

% 10 % e Tar 319 e o g wis win off 78 oft qen frm m % 6 1 A feman
ST I T BT PTAE T B T g0 H form w1 | 389 =1 8 9 forg ~gaam o W
oA foifera femam s weaT 2 2

A 4 B) %10

(C) %16 D) %6

e W FRifid ¥ 10 T 3 200 THAT 3 T T 3 W 3797 Y TUT AT 61 PIAE
T T T L i T | % 2 W arr Shi 3rfam Areen srft wift 8 S ot | g R
o fomaft Tfsr <Rt @it e gt < A ey | Shi St 2

(A) 2,000 B) 1,600

(C) % 1,000 D) 2,200
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Khushi, Namita and Manvi were partners in a firm sharing profits and
losses in the ratio of 5 : 2 : 3. On 30th June, 2022, Khushi died. The
partnership deed provided that on the death of a partner, her share of
profit till the date of death was to be calculated on the basis of average

profit of last three years less ¥ 10,000. 1

Profits for the last three years were :

Year ended Profits/Loss )
31st March, 2020 1,20,000
31st March, 2021 (50,000)
31st March, 2022 1,70,000

Khushi’s share of profit till the date of her death was :
(A) 35,000 B) T9,5683
(C) 28,750 (D) T 8,750

An equity share of ¥ 10 fully called up on which ¥ 6 has been paid was
forfeited for the non-payment of the balance amount. At which of the

following minimum price can it be reissued ? 1
A) %4 B) 10
(C) %16 D) %6

200 equity shares of ¥ 10 each issued at par were forfeited for non-payment

of first call of ¥ 3 per share. Final call of ¥ 2 per share was not yet called. By

which amount the share capital will be debited on forfeiture ? 1
(A) 2,000 B) T1,600
(C) %1,000 D) 2,200

67/5/3 AN Page 7 P.T.O.



7. 35, Toom AT 9o U HH % HTEIGR & qUT 4 ¢ 3 @ 3% TG H @Y died 9 | 1 37194,
2022 § I8 GATY I Th F1 HIHGR SR | 3G, [ooM, Fa TAT T 1 Fa1 <4
fowTe S1quE 3 : 3 : 2 : 2 B | 31 T, 2022 Wi 3k e faawor w1 Igwor =

SEEERTOIRIC TR
®) ®)

fraw SarR-wgr@ @= | 80,000 | & @R ge= % 80,000) | 90,000
JITY & JaNT R 91 SaR-=rera T=’ o1 f & & B 91 i@ieh 9l 8 2

A=

Fran T\ S At
®) ®)

Q) | frow IaR-=gE 999 @rdn ™ 10,000
NS EICEECIGII 10,000

B) | o IaR-Te 959 @rdl I 80,000
g %1 Joft @rar 32,000
forora =1 Ooft @Tan 24,000
Ta T St @rar 24,000

(C) | YTYcHTHA GTaT T 10,000
ey Sar-=gE = @ 10,000

D) | Fow IaR-=gE 9=g @I ™ 80,000
Fraw @ 10,000
3g 1 Ysft @rar 28,000
IEEREIRCIRCII 21,000
Ta o1 Yoft T 21,000

8. (a) 3Afha, gitra aun fhamn Tmger E auT 2 : 2 : 1 % 37U H o-B1H o1 fawed
HTd & | G 1 HHRE ¢ o I G A W 15% HHLE I g | HHIH ¢ °
T8 3G & % 9,20,000 7 | it 1 <7 Swefiee g
(A) %1,20,000 (B) %1,38,000
(C) ¥ 48,000 D) 55,200
e
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7. Indu, Vijay and Pawan were partners in a firm sharing profits in the ratio
of 4 : 3 : 3. They admitted Subhash into partnership with effect from 1st
April, 2022. New profit sharing ratio among Indu, Vijay, Pawan and
Subhash will be 3 : 3 : 2 : 2. An extract of their Balance Sheet as at 31st
March, 2022 is given below :

Amount Amount
Liabilities Assets
) ®)
Investment 80,000 | Investments 90,000
Fluctuation Reserve (Market Value T 80,000)

Which of the following is the correct accounting treatment of ‘investment
fluctuation reserve’ at the time of Subhash’s admission ?

JOURNAL
Particulars Debit Credit
Amt. ®) | Amt. })
(A) | Investment Fluctuation Reserve A/c  Dr. 10,000
To Revaluation A/c 10,000
(B) | Investment Fluctuation Reserve A/c  Dr. 80,000
To Indu’s Capital A/c 32,000
To Vijay’s Capital Alc 24,000
To Pawan’s Capital Alc 24,000
(C) | Revaluation Alc Dr. 10,000
To Investment Fluctuation Reserve 10,000
(D) | Investment Fluctuation Reserve A/c  Dr. 80,000
To Investments Alc 10,000
To Indu’s Capital A/c 28,000
To Vijay’s Capital Alc 21,000
To Pawan’s Capital Alc 21,000

8. (a) Amit, Sumit and Kiara are partners sharing profits and losses in the
ratio 2 : 2 : 1. Sumit is entitled to a commission of 15% on the net
profit after charging such commission. The net profit before charging
commission is ¥ 9,20,000. The amount of commission payable to

67/5/3

Sumit will be :
(A) 1,20,000
(C) T 48,000

OR

AN Page 9
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10.

(b) Y, 9 qUT TR TH BH & TEICR B AT 2 : 2 : 1% A H o9 -8 sied 7 | 31
AT, 2022 1 T T Y o foTT 3k @ o <1 9e7 | YSit O <A b1 @t 5%
gfa o &t g 10% ¥fd o & & T | TR wmEh G e T 2,00,000;
% 1,00,000 T T 50,000 2ft | Ffe T Gare o fote srrerseres TromiSrHT gfaf® grft -

A=

P au | s
® ®

Q) | it =1 =T @ra ™ 2,000
Y T =T @Al 1,000
3TR T =T @Al 1,000

B) | A 1= @I ™ 3,000
Y T ITe] Wl 2,000
3TR T =Te] @l 1,000

(C) | ¥t =1 I5ft @rat ™ 2,000
PR IRCIGl 1,000
3TR o1 Uit e 1,000

D) | ¥t 1 IS0 @t ™ 3,000
% 1 Ysft Wrar 2,000
3TR T Yoft e 1,000

T heutves uftfeufa o1 ufe au gHeh STUR WIS |, 9 7T 10 T 3 T :
forem, i e sfirar s wd i AR # 195 ¢ 3 1 2 % AU B oA siedt § | Sk
Trft 4Sft shEer: 7 1,80,000; 3 1,60,000 €T % 2,00,000 8 | 31 9T, 2022 ! FHT
LA § e 3 yes fommet & 31=a § 3 7,500 o1 T80 foa |

TTE o T ISt T 10% ST g AT ¢ o1 JTae= 7 | 3i7ar 61 Isft v =t
wfsr geft

(A) T 18,000 B) 16,000

(C) 20,000 (D) 10,000

37TEd TET Shl T fSH W 31T R AT Shl TTUET Y SR, g
(A) 3% wEH B) 4% wE=
(C) 7% HEH D) 67N

67/5/3 AN Page 10
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(b) P, Q and R are partners in a firm sharing profits and losses in the
ratio of 2 : 2 : 1. For the year ended 31st March, 2022, interest on
capital was credited to them @ 10% p.a. instead of 5% p.a. Their fixed
capitals were ¥ 2,00,000; ¥ 1,00,000; ¥ 50,000 respectively. The

necessary adjustment entry to rectify the error will be : 1
JOURNAL
Particulars Debit Credit
Amt. R) | Amt. R)
(A) | P’s Current Alc Dr. 2,000
To Q’s Current A/c 1,000
To R’s Current Alc 1,000
B) | P’'s Current Alc Dr. 3,000
To Q’s Current A/c 2,000
To R’s Current Alc 1,000
(C) | P’s Capital Alc Dr. 2,000
To Q’s Capital A/c 1,000
To R’s Capital A/c 1,000
(D) | P’s Capital Alc Dr. 3,000
To Q’s Capital A/c 2,000
To R’s Capital A/c 1,000

Read the following hypothetical situation and answer Question Nos. 9 and
10 on the basis of the same.

Nitya, Shreya and Ishita are partners in a firm. They share profits in the
ratio of 5 : 3 : 2. Their fixed capitals are ¥ 1,80,000; ¥ 1,60,000 and
% 2,00,000 respectively. For the year ending 31t March, 2022, Nitya
withdrew % 7,500 at the end of every quarter.

9. The partnership deed provided that interest on capital will be allowed

@ 10% p.a. The amount of interest on Ishita’s capital will be : 1
(A) T 18,000 B) T 16,000
(C) 20,000 (D) 10,000

10. The average number of months for which interest on drawings will be

calculated, will be : 1
(A) 3% months (B) 4% months
(C) 7% months (D) 6 months

67/5/3 AN Page 11 P.T.O.
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11.

12.

(a)

(b)

(a)
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e fafies 3% 10 v % 1,10,000 30 61 S 20% Sftem w fifia
Toram T e, ¥ 2 ufd 319 1 o e a9 3 3 gid 31 i 31f<m A &
A 7 S IR ET S TAT | 3791 JT0T @I o STHT 9&T | Wi+t b SRty

(A) %5,50,000 B) ¥7,70,000

(C) %2,20,000 (D) 5,00,000
arean

iR m s adi g ?

(A) T FreTeh [ o & 373 Tod &9 8 gea=oid T8 g |

B) e doft 3rfirem 45t 1 o8 v & @ wim T R |

(C) @t o sfgfiarmt o & s dot & rferes Toft shroeft wehfora =i ot wemelt |

D) IS 1 g TEl =M T g N et st & faeed % wma € wim S
bl B, Yofl T HEela 2 |

Tel, UH 4T U Ueh %4 % HIPER & a1 5 : 3 : 2 o STATd § ST} ohl fevTsi shid

211310, 2022 § I AT ol SO sied o1 v foran | 38 faftr =61 s

TE 1 T 2,00,000 T Y T AT A - @ H T 4,00,000 T STHT AT T |

Y TrTer 31T | Ui o HRoT SRl o ToTe Ustmmn ufafs gnft

A=
e am R ) | s A )
A) | I E= T T am | 2,00,000
AT -1 @rar 2,00,000
(B) | wH w1 ISH @ am 80,000
T 1 S @ am 20,000
T o1 Yol @ 1,00,000
(C) | 9= T= g @l qm | 2,00,000
IEEIERCI G T | 4,00,000
TS 1 Uofl @ 2,00,000
TH T Sl @ 2,00,000
T %1 YSH @l 2,00,000
D) | I F= T Tl T\ | 2,00,000
AT - @ T | 4,00,000
TS o1 Usfl @ 3,00,000
TH T Yl @A 1,80,000
T o1 Yol @ 1,20,000
Jrora
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11. (a) Aysha Ltd. forfeited 1,10,000 shares of ¥ 10 each issued at 20%
premium for the non-payment of first call of ¥ 2 per share and final

call of ¥ 3 per share. Share Forfeited Account will be credited with : 1
(A) %5,50,000 B) ¥7,70,000
(C) T 2,20,000 (D) % 5,00,000
OR
(b) Which of the following statements is true ? 1

(A) The shares of a public limited company are not freely transferable.

(B) Paid up capital is that part of the subscribed capital which has
been called up.

(C) The company cannot raise more capital than the amount of
capital as specified in the Memorandum of Association.

(D) The part of the uncalled capital which is called only in the event
of winding up of the company is called Capital Reserve.

12. (a) L, M and N are partners sharing profits in the ratio of 5 : 3 : 2. They
decided to share profits equally with effect from 1st April, 2022. On
that date, there was a balance of ¥ 2,00,000 in General Reserve and a
credit balance of ¥ 4,00,000 in the Profit and Loss Account. The
Journal Entry for the above on account of change in profit sharing

ratio will be : 1
JOURNAL
Particulars Debit Amt. | Credit Amt.
®) ®

(A) | General Reserve Alc Dr. 2,00,000

To Profit and Loss A/c 2,00,000
(B) | M’s Capital Alc Dr. 80,000
N’s Capital Alc Dr. 20,000

To I’s Capital Alc 1,00,000
(C) | General Reserve Alc Dr. 2,00,000
Profit and Loss A/c Dr. 4,00,000

To L’s Capital Alc 2,00,000

To M’s Capital Alc 2,00,000

To N’s Capital Alc 2,00,000
(D) | General Reserve Alc Dr. 2,00,000
Profit and Loss A/c Dr. 4,00,000

To L’s Capital Alc 3,00,000

To M’s Capital Alc 1,80,000

To N’s Capital Alc 1,20,000

OR

67/5/3 AN Page 13 P.T.O.
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15.
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(b) T, oTS YT A EISER & qUT 2 : 3 : 1 % U § g1+ sied 8 | 1 313,
2022 H 38 9iasT § i b1 3 : 2 : 1% U H die o1 iy foram | amw-
B faarem s § qiteds & 999 @rdi § gt 9 fohu Tu s %1 o, ot
qeaehi B f JehR @ fopam wmam
(A) TTIER % YSft @l o 19 U § @l Hieh |
B) AR GTd o ATH U&7 H Tl hieh |
(C) et WA o ST U&T | GellH! hish |
(D) EEERT % ot @i & ST 9er § @l b |

anfee, AR qe 3ifhd T B % TR 94 AUT 4 : 3 : 3 % AT H A—7TH died
& | 31 9T, 2022 1 %Y W forered &1 T | foreres ufshan i U i & fore smfeea i
frafa 1 78 fraek forw 38 T 42,000 1 urfesfires < o1 | 3nfecy foere =921 oA
H % 1T ggaa & ™ | foered W arEfaes =5 T 33,000 7€, frment yram snfeer 3
forar | amifeea o doft @ o ST 9er § @t < STeareft iy gnft

(A) 42,000 (B) 33,000

(C) %9,000 (D) % 18,000

%, @ qUT T 1 BTSeH! B & foered & @ua giud oy T 40,000 1 = 3 @ 5w @md
T gEardia femam Starm 2

(A) TR T (B) =gcht @

() wrEr & §h @ (D) &% @

(a) UH RO fSehT Tae ush fafire srafer ot wmrfed W sreren st 61 e srafy
T Thgwd 31raT fohvdl § foharm ST 2, 39 €4 H W 914 &
(A) Uera o
(B) ferfare o <t sRoT
(C) ure o
(D) wfEd-T o
T
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(b) X, Y and Z are partners sharing profits and losses in the ratio of
2 : 3 : 1. They decided to share future profits in the ratio of 3 :2 : 1
with effect from 1st April, 2022. At the time of change of profit
sharing ratio, unrecorded furniture will be recorded in the books of
Accounts by : 1

(A) Debiting it to Partners’ Capital Account
(B) Debiting it to Revaluation Account

(C) Crediting it to Revaluation Account

(D) Crediting it to Partners’ Capital Account

13. Aditya, Abhinav and Ankit were partners in a firm sharing profits in the
ratio of 4 : 3 : 3. On 31st March, 2022, the firm was dissolved. Aditya was
appointed to complete the dissolution process for which he was allowed a
remuneration of ¥ 42,000. Aditya also agreed to bear dissolution expenses.
Actual expenses on dissolution amounted to ¥ 33,000 which were paid by

Aditya. Aditya’s Capital Account will be credited by : 1
(A) T 42,000 (B) 33,000
(C) T9,000 (D) T 18,000

14. On dissolution of the partnership firm of A, B and C, the accumulated

profits of ¥ 40,000 will be transferred to which of the following account ? 1
(A) Revaluation Account (B) Realisation Account
(C) Partners’ Capital Accounts (D) Bank Account

15. (a) The debentures which are payable on the expiry of a specified period
either in lump-sum or in instalments during the life time of the
company are known as : 1

(A) Secured debentures

(B) Specific coupon rate debentures
(C) Redeemable debentures

(D) Convertible debentures

OR
67/5/3 AN Page 15 P.T.O.
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(b) FoE S e T O PH ATHUT TS TE B ?

(A) =T o1 fefe e foren St EeRaT 2 |

(B) FTTAT 1 fieT ag T & fopan S EhaT 7 |

(C) Tt 1 fontee wnfeedes wfafa < &9 & fpen s ashar 2 |
(D) T 1 fotee rfres W fema S Ewhar 2 |

16. feR 3tfer fafiee 3 3tg fafies @ % 3,60,000 o st afwafaat o1 s femam aen
% eI T PTAH T 100 TH b 11% FRITTHAT 1 10% g R Fiferd swees o |
sfifier arel fafiee 6 gra fifira ot <6t o of -

(A) 3,600 B) 36,000
(C) 40,000 (D) 4,000

17. (a) %A, ATV, HAT 7T ok Th HH o AEGR & 15 : 3 : 2 : 2% 3 4

(b)

67/5/3

T died ¥ | 31 AT, 2022 I HAA HaTHI & T | T, TN a9 e 1
9IS § ST SRIsR-TeR dfed 1 fofer foran | swe <t wanfagfa w & 6t @t
T Feameh 3 9,00,000 foham 7= |

3T} U 1 TTEAT | S G HAA ol HATHI T ST 6 R@ieh i
3TavTeh U= wiafy Hife | =g frofr foran man 2 o6 wnfa 61 % 6 geaest §
CURIEEIE LN

Jreran

31gel AT AT FHER & TAT 3 : 2 o A H A Sled o | U I A F 1/49
qTT % fore wH o yerr e | $u 3w OSft 6 w9 § T 40,000 1€ | @A,
eIl YT SAATST o JAHeaTR 3G § Hafod v SRSl o qeaTd 31qd
e Tiar &t doft shEE: % 60,000 €T T 40,000 ot | 7€ HEald g3 foh wRieri A
Yt U A forree S7uTd < STER B |

T FTEERT 1 PTAH sl ST dTell 1Y 39 g1 A1 S arelt doft shY 7o
SHITTT e 58k Tou FATarvares st wierfy /sfafyat i |
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(b) Which of the following statement is incorrect with respect to
debentures ? 1

(A) Debentures can be issued for cash.
(B) Debenture cannot be issued at discount.
(C) Debentures can be issued as collateral security.

(D) Debentures can be issued at premium.

16. Premier Auto Ltd. purchased assets of the value of ¥ 3,60,000 from Anand
Ltd. and made the payment of purchase consideration by issuing 11%
Debentures of ¥ 100 each at a discount of 10 %. The number of debentures

issued by Premier Auto Ltd. were : 1
(A) 3,600 B) 36,000
(C) 40,000 (D) 4,000

17. (a) Tarun, Abhishek, Kamal and Vivek were partners in a firm sharing
profits in the ratio of 5: 3 : 2 : 2. Kamal retired on 31st March, 2022.
Tarun, Abhishek and Vivek decided to share future profits equally.
On Kamal’s retirement goodwill of the firm was valued at ¥ 9,00,000.
Showing your working clearly, pass the necessary journal entry for
treatment of goodwill on Kamal’s retirement. It was decided not to
show goodwill in the books of the firm. 3

OR

(b) Atul and Geeta were partners sharing profits in the ratio 3 : 2. Ira
was admitted into the firm for 1/4th share of profits. Ira brought
T 40,000 as her capital. The capitals of Atul and Geeta after all
adjustments relating to goodwill, revaluation of assets and liabilities
etc. are ¥ 60,000 and ¥ 40,000 respectively. It is agreed that capitals
should be according to the new profit sharing ratio.

Calculate the amount of actual cash to be paid off or brought in by
the old partners. Pass the necessary journal entry/entries for the
same. 3
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e o quT AmE I g 10% oY | 76 gy r T et it <6y afsr Y o

HINT |
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(b) 3TRaet qut Ffaet aTggR & quT 3 : 2 % U H Y-FTH dfed o | 3T W
doft sRET: T 1,00,000 4T Z 80,000 & | dSft W 6% anfies <t & <ot <Al wewfd
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1 7T B g ] Rt ST Iad T % 9T g o 2 1,20,000 T |
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% 3,00,000 &1 T fafma 73 wewr foram qem 9w &1 fae™ T 100 Y& % 10%
FOTHAT Sl 20% Sfifeem W frifid ek fohen | Frerfa fofiee i geaent § Swied o]
1 Teveh UsHTH=T ITfSat HifT |
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18. Aayush and Aarushi are partners sharing profits and losses in the ratio of
3 : 2. They admitted Naveen into partnership for 1/4th share. Goodwill of
the firm was to be valued at three years’ purchase of super profits.
Average net profit of the firm was T 20,000. Capital investment in the
business was ¥ 50,000 and Normal Rate of Return was 10%. Calculate the
amount of Goodwill premium brought by Naveen. 3

19. (a) Asha, Disha and Raghav were partners in a firm sharing profits in
the ratio of 2 : 3 : 1. According to the partnership agreement, Raghav
was guaranteed an amount of ¥ 40,000 as his share of profits. The
net profit for the year ended 31st March, 2022 amounted to
% 1,20,000.

Prepare Profit and Loss Appropriation Account of the firm for the
year ended 31st March, 2022. 3

OR

(b) Akhil and Nikhil were partners sharing profits and losses in the
ratio of 3 : 2. Their fixed capitals were T 1,00,000 and ¥ 80,000
respectively. Interest on capital was agreed @ 6% p.a. Nikhil was to
be allowed an annual salary of ¥ 9,200. During the year 2021-22, the
net profit prior to the calculation of interest on capital but after
charging Nikhil’s salary amounted to ¥ 1,20,000.

Prepare Profit and Loss Appropriation Account of the firm for the
year ending 31st March, 2022. 3

20. Neon Ltd. purchased assets worth ¥ 18,00,000 and took over liabilities of
%2,00,000 of Zenith Ltd. for a purchase consideration of ¥ 15,00,000. Neon
Ltd. paid the amount by accepting a bill of exchange of ¥ 3,00,000 and the
balance was settled by issuing 10% debentures of ¥ 100 each at a premium

of 20%. Pass necessary journal entries for the above transactions in the
books of Neon Ltd. 3
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21. T fafies T 10 R % dwar 3t 4§ fave T 9,00,000 3t 3Aferepd Ysf o @ s
2 | HEE T 80,000 TEAT 37 &% ffma % fou e smba w0 g g 9w
foparm | sl W 79,000 TwAT 3791 o fTT 3TEEd I gT | At ATeHTE 7 ot T aen
T 81 718, hae 4,000 3311 o Teh 3TN, 37 1 BIeH e T 3 Ifd 7% hi gl
T ST FTSHT BT A & {hAT | 37 370 BT 5201 L foranm T |
(a) Pt FrffRm, 2013 6t e 110, AT 1 % TR ‘39 IS ol T o

feurfer feremor o gurfgu |

(b) & % forw @i o Fem ot AR R |

22. W, o qem AR U fehTer St wefi H1 IcuTeT N aTelt Tk BH % A1RIER o | o
2:2: 1% U § -1 siied A | 31 7, 2022 1 3eh1 fefer ferawor o yepm & o -

31 W, 2022 <kt O, T a1 TR o feafa feraro

Fam o afEEtEt i
®) ®)
it - LR RCRENIET 1,25,000
9 - 50,000 offfr qer wed 1,50,000
] — 1,25,000 TTER 40,000
IR — 1,00,000 | 2,75,000 | =i 35,000
T §9d 1,25,000 | & T Tehg 75,000
fafir= s eR 25,000
4,25,000 4,25,000
30 S, 2022 ! ‘FY 1 I B TS | FTSIER! Tod o STTHR I8eh I ITUTTHRRT F1
EREIAIOR

A IS T 12% i @ H S |

(i) T § 3Eeh AT % 12,000 |

(iii) g 1 fafor 7 @ & IueRt vy fSEehY T fasha W SmeR WAt ST oft |
1 3194, 2022 & 30 S, 2022 T foska ¥ 62,500 o1 | 31 A, 2022 I THIG

BT & fIC % o1 fashar @ & seaen:  5,00,000 T % 1,25,000 AT | 36
I AR 1 T B o feTu, w1 deft @ dar i |
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21. Shiv Ltd. was registered with an authorised capital of ¥ 9,00,000 divided
into equity shares of ¥ 10 each. The company issued a prospectus inviting
applications for issuing 80,000 equity shares. The company received
applications for 79,000 equity shares. All calls were made and duly
received except the second and final call of ¥ 3 per share on 4,000 shares
held by Anu. These shares were forfeited.

(a) Present the ‘Share capital’ in the Balance Sheet of the company as
per Schedule III, Part I of the Companies Act, 2013.
(b) Also prepare ‘Notes to Accounts’ for the same.

22. P, Q and R were partners in a water dispenser manufacturing firm. They
were sharing profits and losses in the ratio of 2 : 2 : 1. On 31st March,
2022, their Balance Sheet was as follows :

Balance Sheet of P, Q and R as on 31st March, 2022
Amount Amount
Liabilities Assets
® ®)
Capitals : Plant and Machinery | 1,25,000
P - 50,000 Land and Building 1,50,000
Q - 1,25,000 Debtors 40,000
R - 1.00,000 2,75,000 | Stock 35,000
General Reserve 1,25,000 | Cash at Bank 75,000
Sundry Creditors 25,000
4,25,000 4,25,000
Q died on 30th June, 2022. According to the partnership deed, his legal
representatives were entitled to :
(1) Interest on capital @ 12% p.a.
(11) ¥ 12,000 for his share of Goodwill.
(i11) His share of profit till the date of death was to be calculated on the
basis of sales. The sales from 1st April, 2022 to 30th June, 2022 were
% 62,500. The sales and profits of the firm for the year ending 31st
March, 2022 was T 5,00,000 and ¥ 1,25,000 respectively.
Prepare Q’s Capital Account to be rendered to his legal representatives.
67/5/3 AN Page 21
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amoft feafires = % 10 Y% % 1,00,000 FHaT 3791 S 10% Sfirm w frifaa &
o TTQ 31Tarem ST ferw | it ot e et wepm & S o
JTAEA QT 3718 W — % 4 ¥fd 3191 (% 1 Hfeem afza)
T AT W — T 4 T 312
gudl T 3T~ Frem - % 3 Wi 3w
1,50,000 37T & feTu 31mdes wTed gU quT Txft 3Traeshi 1 HUIde 3R W
3Teiest L Team e | srfafer e Tl 1 FHREISE JEEIE ) iy § 9
ot | wes s, 9k, fSER 600 379 o fAu sAree foham o, 3 vem g
1 YA A& AT | I8 RN HT BT HL o1 1 | ot qem tfem Frer aift
T ATl T TS off | g0 fohw T 3 A & 3 37w w1 T 8 Wi 39w qul yed :
fotfira e feam mm |
STET JTEvsh B ITEd AT WAl a1 qaed AT WAl @ietht 3T
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Jreran
o= afiferforn & arer o g1 Qe & fohe TTu 3t < qA:frie & fetu stawess
s Stsat it -
() fafm fafiee 3 2 10 7@ % 10,000 37311 1 fo=g T 1 wfa o sfiftiem w
fotfira fomam T e, % 2 Wi 37w <61 gedl der stf=m A=A &1 PTae T
TR BT T TOTAT | 59 3T H " 60% I o % 7 Wi 379 qui wed gt
& fean |
() e fafies 93 10 I3 & 800 33 &1 59 W T 8 fa 37w #i MU 9,
T 3 Wil 3797 31 ToW ATSHT 1 TTAH 7 i T g7 R foram | aft g0 fep
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23. (a) Vani Limited invited applications for issuing 1,00,000 equity shares of

% 10 each at a premium of 10%. The amounts were payable as under :
On Application and Allotment — ¥ 4 per share (including premium 1)
On first call — X 4 per share

On second and final call — X 3 per share

Applications for 1,50,000 shares were received and pro-rata allotment

was made to all the applicants.

Excess application money was adjusted towards sums due on calls.
Parth, a shareholder who had applied for 600 shares did not pay the
first call. His shares were forfeited. The second and final call was not
yet made. Half of the forfeited shares were reissued at ¥ 8 per share

fully paid up.

Journalise the above transactions in the books of Vani Limited by
opening calls in arrears and calls in advance account wherever

necessary. 6
OR

(b) Pass necessary journal entries for forfeiture and reissue of forfeited

shares in the following cases :

(1) Vipin Ltd. forfeited 10,000 shares of ¥ 10 each issued at a
premium of ¥ 1 per share, for non-payment of second and final
call of ¥ 2 per share. Out of these, 60% of the shares were
reissued at ¥ 7 per share fully paid up. 3

(11) Deepak Ltd. forfeited 800 shares of ¥ 10 each, ¥ 8 per share
called up, for non-payment of first call of ¥ 3 per share. All the

forfeited shares were reissued for ¥ 12 per share fully paid. 3
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24. (a) YA, UG a7 FTS Uk HH o HISIER & AT 5 : 3 : 2% U § AT sred
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31 T, 2022 i A, Tge qen s ot feufa foaro

N afn . afn

®) ®)
gaft : PEECIRCE 1,70,000
HHA 1,20,000 I qer wefiad 2,60,000
Tgd 1,20,000 1,00,000
BiLE] 1.20.000 | 3,60,000 80,000
= T= 1,20,000 50,000

faftr= ereR 1,80,000

6,60,000 6,60,000

iR T sht Trget Sranfrat & e qer e wrat o wenf s

(i) s @fa T geareRd % 3,50,000 feRam T |

(i) ol omert o gfffera T 10,000 Y T He oft faent g & T s

T | 37q: TAFARGA L AT TAT | T2k T FeATeh X 90,000 T R |
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(iv) TEe ol < TR ST FEATAUT IHeh 0T WA H T e SR |

Tget <l AaTr G eieh @1 qeT TEieRi o goil @ dam i |

AN

YA

Page 24




@
El H]

24. (a) Kamal, Rahul and Neeraj were partners in a firm sharing profits and

losses in the ratio of 5 : 3 : 2. On 31st March, 2022, their Balance

67/5/3

Sheet was as under :

Balance Sheet of Kamal, Rahul and Neeraj as on 31st March,

2022
Liabilities Amount Assets Amount
) )

Capitals : Land and Building 1,70,000
Kamal 1,20,000 Plant and Machinery | 2,60,000
Rahul 1,20,000 Stock 1,00,000
Neeraj 1,20.000 | 3,60,000 | Debtors 80,000
General Reserve 1,20,000 | Cash 50,000

Sundry Creditors 1,80,000
6,60,000 6,60,000

On the above date, Rahul retired and following terms were agreed

upon :

(1) Goodwill of the firm was valued at ¥ 3,50,000.

(11) An item of ¥ 10,000 included in Sundry creditors is not likely to
be claimed and hence written off. Stock was valued at ¥ 90,000.

(i111) Capital of the new firm was fixed at T 2,10,000 and the same
will be adjusted in the profit sharing ratio of the remaining

partners. For this purpose the required cash will be brought in

or paid off as the case may be.

(iv) Amount payable to Rahul will be transferred to his loan

account.

Prepare Revaluation Account and Partners’ Capital Accounts on

Rahul’s retirement.

OR
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(b) Fefiy qer fereiv BT 9 e 3 : 2 % AU | M -g1 sied 9 | 31 °H, 2022
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N afn . afw

®) )
TR 30,000 | s T g 50,000

Jrea ferateft fora 20,000 | 2R 80,000

TSh T : G /O o fIUIEgE 2,000 | 78,000
Y 3,00,000 Wi 1,12,000
fosy 2.00,000 | 5,00,000 | wefd 3,00,000
AT -ETH @t 10,000
5,50,000 5,50,000

1 379, 2022 1 A9 H Y 91 o fore f ot 92 A= <61 Uk 991 Egier’ s

AT e

(i) == I OGS % T % 1,00,000 e w@nfa fiftem % st wm % forg

% 50,000 TG Tl |

(i)  I7ea forsteft fret w1 sprram = feam s |

(iii) TTh ST GeAThA T 12,000 3Terh 9T 70T |
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(b) Ashish and Vishesh were partners sharing profits and losses in the

67/5/3

ratio of 3 : 2. Their Balance Sheet as at 315t March, 2022 was as

under :

Balance Sheet of Ashish and Vishesh as at 31st March, 2022

Amount Amount
Liabilities Assets
®) ®
Creditors 30,000 | Cash at Bank 50,000
Outstanding Debtors 80,000
electricity bill 20,000 Less : provision for
Capitals : bad debts 2000 | 78,000
Ashish  3,00,000 Stock 1,12,000
Vishesh 2,00,000 | 5,00,000 | Machinery 3,00,000
Profit and Loss A/c 10,000
5,50,000 5,50,000

On 1st April, 2022, Manya was admitted into the firm with 1/4th

share in the profits on the following terms :

(1) Manya will bring T 1,00,000 as her capital and ¥ 50,000 as her

share of goodwill premium in cash.
(1) Outstanding electricity bill will be paid off.
(ii1) Stock was found over valued by ¥ 12,000.

Pass the necessary journal entries in the books of the firm on

Manya’s admission. 6
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27.

% TTETd 31 AT, 2022 i Hfed quT gua H1 Areeit BH % foeed ® gu fe ol &
U STTervares UsTmET Shafdat SR -

(a) sfFET= T 1,00,000 T RMH T 90,000 §  fo= |

(b) % 2,00,000 % TSR = ¥ 3,00,000 1 T TG A 3794 € o f Foe & =
Sl

(c) ¥23,000 i ush afcrafa i forept o &l fokam o, gu= 4% 17,000 §
fotam |

(d) % 2,000 S ST BT PTAH Hierar 3 T |
(e) ¥ 21,000 b 0T T YA HT Feam 7 |
(H foEeI | 7,000 FFHEE |

Fasfiet fefiree 7 3 100 w9 = 2,000, 10% Fora=1 o1 fartae fopam | o feurfeat o
FROT9H] o FTA 61 SATeI9Tes U= gttt Hifw

(a) T RO T e 10% feEm 9w fopam i qem g9eht 3ed 5% o Hiftem w
HETE |

(b) & T T T 5% &g W fomat a1 a1 39ehT I 10% Hiftd W 8 |
(c) T8 U] ST FRTHA Toge W TR T qer 39kt e 10% it s g |

WA - ©
e - 1
(forsfrar ferarmott 1 fargeiwon)

g fafies 1 =reg gmfaat € 2,00,000 @@ =Te] <@ % 1,50,000 & | AfE 38661
Hrfefiet ISt ST1ad 37U 6 T &, 1 $Heh! S=ETe o 37T 8if -

(A) %2,00,000 B) ?3,00,000

(C) % 2,50,000 D) % 1,50,000
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25. Pass necessary Journal Entries for the following transactions, on the
dissolution of a partnership firm of Kavita and Suman on 31st March,
2022, after the various assets (other than cash) and third party liabilities
have been transferred to Realisation Account.

(a) Kavita took over stock amounting to ¥ 1,00,000 at ¥ 90,000.

(b) Creditors of ¥ 2,00,000 took over Plant and Machinery of T 3,00,000
in full settlement of their claim.

(¢) There was an unrecorded asset of ¥ 23,000 which was taken over by
Suman at I 17,000.

(d) Realisation expenses ¥ 2,000 were paid by Kavita.
(e) Bank loan ¥ 21,000 was paid off.
(f) Loss on dissolution amounted to ¥ 7,000. 6

26. Chiranjeevi Limited issued 2,000, 10% debentures of ¥ 100 each. Pass the
necessary Journal entries for the issue of debentures in the following
cases :

(a) When debentures were issued at 10% premium, redeemable at 5%
premium.

(b) When debentures were issued at 5% discount, redeemable at 10%
premium.

(¢c) When debentures were issued at par, redeemable at a premium of
10%. 6

PART -B
OPTION -1
(Analysis of Financial Statements)

27. The current assets of X Ltd. are ¥ 2,00,000 and its current liabilities are
% 1,50,000. If, its working capital turnover ratio is 6 times, its revenue

from operations will be : 1
(A) % 2,00,000 (B) < 3,00,000
(C) % 2,50,000 (D) 1,50,000
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(iii) TR feremor (iv) AU fergersor
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(b) FEATHH ATHYT TE AR R ?
(A) A IIUTAT <l TUHT STHT 6T AGhTeA INEFLTAT hl AU & forw i
ST & |
(B) TTe] 37UTA 1 3TEA SAfel STTUTA b ATH & oY ST ST 8 |
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(iii) TEed qUT I | YT e |
(v) i o g o Torw 37 1 foriea |

A) (), (ii) TT (iii) B) (i), (iii) TAT (@v)
(©) (@), (i1) TT (v) D) (1) 7T (1id)
30. (a) fo= o @ W 91 WA H1 R Uehg YaTE T8 8T 2
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B) frasm %1 fasra
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28. (a) Which of the following are not tools of Financial Analysis ?

(b)

(1) Cash Flow Statement (1) Income Statement
(111) Balance Sheet (iv) Ratio Analysis
(A) @) and (1) B) (@1) and (@v)
(C) (1) and (ii1) (D) (@ii) and (iv)
OR

Which one of the following statement is incorrect ?

A4)

®B)
©)

D)

Liquidity ratios are calculated to measure the short term

solvency of the business.
Current ratio is also known as Acid Test Ratio.

Solvency ratios are calculated to determine the ability of the
business to service its debt in the long run.
Proprietary ratio expresses the relationship of proprietor’s

funds to net assets / total assets.

29. Which of the following activities are operating activities for the purpose of

preparing ‘Cash flow statement’ ?

@
(i1)
(ii1)
@v)
A4
©)

30. (a)

67/5/3

Dividend and Interest received on securities.

Payment of employee benefit expenses.

Cash receipts from royalties and fees.

Issue of shares against purchase of machinery.
(1), (11) and (iii) B) (1), (1ii) and @v)
(1), (11) and (1v) (D) (1) and (ii1)

Which of the following transaction will result in no flow of cash ?

A4)
®B)
©)
)

Purchase of machinery
Sale of investments
Acquisition of machinery by issue of equity shares
Redemption of debentures
OR
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(b) Match the transactions given in Column — II with their correct category

given in Column — I for the purpose of preparation of ‘Cash Flow

Statement’. 1
Column -1 Column - 11
(a) Investing Activity (1) Interest paid

() Financing Activity  (ii) Purchase of Goodwill

() Operating Activity  (iii) Cash receipts from sale of goods
(a) (b) (c)

@ @) @ (i)

B) (1) @) (i11)

© @ i) @)

D) @) @) @)

31. Under which heads and sub-heads the following items will appear in the
Balance Sheet of Company as per Schedule III, Part-I of the Companies
Act, 2013 :

(a) Loose tools
(b) Calls-in-Advance

(c) Capital Reserve 3

32. ‘It is the process of identifying the financial strengths and weaknesses of
the firm by properly establishing relationships between the various items
of the balance sheet and the statement of profit and loss’. Identify the
process highlighted in the above statement and state its any two

objectives. 3
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33. (a) T 9= @ SRfRes qen srfam weie i T i

(b)

Wieh TaRT AU — 4 IR
Gehel Y = J=Tel § 3T T 20%
Y=o | 3P = % 10,00,000
TRy Wieh, 3119 Wik 1 25% 2 |
Jreran
g farfires o1 or-wwar U 2 : 1 8 | SR Afed Sarsy foh fe o & wrwor-
THAT JTATA S, T ST FaH his Ui &l g :
(i) ¥ 3,00,000, 9% FTIAT BT THAT 7 § TR |
(i) <TEN & T 1,00,000 hH T YIS |
(iii) ¥ 10,00,000 % 11% FUTIAT T INEA |

(iv) T 4,00,000 % HTeT T IUR 3T |

34. T wreufie U o1 ufgu qem 35 3mam W = fou 7u gwEt % s i
T8 2019 ¥ rfefa 7 Free foafies’ 9@ =1 3w wR-3m 3 fha | fhse
fafires v Sifas @ e arelt 31 2 | TRed o Jid STTEehdl o ROl TTAR 6
N1 & IR A TG &2 |
31 T, 2022 1 THTE §U Y o forw fesst fetfires o feurfa T @ fm g sgf@
HITE
31w, 2022 31 urd, 2021
®) ®)
THAT 7 doft 90,00,000 60,00,000
11% 19 30,00,000 50,00,000
T (AT eI W) 28,00,000 20,00,000
e T Thhd s 90,000 60,000
67/5/3 AN Page 34




@
El H]

33. (a) From the following information, calculate the value of opening and

closing inventory :
Inventory Turnover Ratio — 4 times
Gross Profit = 20% on Revenue from operations
Revenue from operations =¥ 10,00,000
Opening inventory is 25% of the inventory at the end. 4
OR
(b) Debt-Equity Ratio of Z Ltd. is 2 : 1. State with reason whether the
following transactions will improve, decline or will not change the
debt-equity ratio :
(1) Conversion of ¥ 3,00,000, 9% debentures into equity shares.
(i1) Cash received from debtors ¥ 1,00,000.
(111) Redemption of ¥ 10,00,000, 11% debentures.
(1v) Purchase of goods on credit ¥ 4,00,000. 4

34. Read the following hypothetical text and answer the questions given

below on the basis of the same :

Aditi, initiated her start-up ‘Fizz Ltd. in 2019. ‘Fizz Ltd. is an
organic juice extracting unit. Its profits are increasing year-after-year

because of the increasing awareness towards health.

Following information has been extracted from the Balance Sheet of ‘Fizz

Ltd.” for the year ended 315t March, 2022 : 6
31st March, 2022 | 31st March, 2021
® ®

Equity Share Capital 90,00,000 60,00,000

11% Debentures 30,00,000 50,00,000
Machinery (at cost) 28,00,000 20,00,000
Accumulated Depreciation on

Machinery 90,000 60,000
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a9 % G T 4,00,000 ST shT Teh TR w67 farsha T 30,000 o o1 91 Toham 7 |

(i) 9§ e o SRR T gedstE T 50,000 o7 |
(iii) 11% O W T T T St Kt Ui ¥ 5,50,000 ot |
(iv) THAT 37 W T 3,00,000 o ATHI T PTAM fha1 77 |

W)

SROTYEAT <1 3MeH 31 A1, 2022 1 10% Siftrs 9t femem mm |

forest fafiree i fraw nfafaferr qen focfia nfafafirar @ Tere varg i o AIfSE |

27. (a)

(b)

28. (a)

(b)

-
ICETc | |
(3tftreRferar wETena)

e 5 | 1 91 STTE-UE T (B HT deh (ITRHS) TE 8 2
(A) TE-AG-TF (FF-FF-2)

B) T — I« — A (I — 3 — HieH)

(C) ¥ed — g — 31T (I — 3% — BicH)

(D) dfeheh W& (SATTSThet 352)

Froqan
TS Teh T Teheeh oh1 YT TohdT SITAT @ ql feha-1 e sehefie fe@ms ot & ?
A = B) =R
€ O @
T T U U U &7 (Hieg) W forgH & fou 3w fope 51 wen aret stferesan
A= (hiaeH) Y TEI R
A) 28 B) 32
(C) 64 D) 104
Jroran

gehefte 1 frsarfeq <t 73 stf~m foram o1 Seted & fofu fa O 9 i o) svate & St
2?7

@A) Ig B) =g

©) = D) Tg

29. A pIg fHH e (3TehEH) YT TR Ffiferd &, g 2 -
(A) hites (HeafirEeT) wiga
(B) @UE () HigH
(C) & high
(D) T HEH (HHIT) higH
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Additional Information :

@

(i)
(iii)
(iv)
)

During the year, a machine costing ¥ 4,00,000 was sold at a gain of
T 30,000.

Depreciation charged on machinery during the year was ¥ 50,000.
Interest paid on 11% debentures amounted to ¥ 5,50,000.

Dividend of ¥ 3,00,000 was paid on equity shares.

Debentures were redeemed at a premium of 10% on 31st March, 2022.

Calculate cash flows of ‘Fizz Ltd.” from ‘Investing Activities’ and
‘Financing Activities.’

27. (a)

(b)

28. (a)

(b)

PART -B
OPTION -11
(Computerised Accounting)

Which of these is not a argument of the IF function ?
(A) Value-if-true (B) Value-when-false
(C) Value-if-false (D) Logical test
OR
How many blank worksheets are shown when a new workbook is
created ?
(A) Three (B) Four
(C) One D) Two

Maximum number of characters that can be used to write a field
name in MS Access is :
(A) 28 B) 32
(C) 64 (D) 104
OR
Which of the following command reverses the last action performed
in the worksheet ?
(A) Undo (B) Cut
(C) Paste (D) Redo

29. Codes comprising of alphabets or abbreviation are known as

A4)
©)

67/5/3

Sequential codes (B) Block codes
Number codes (D) Mnemonic codes
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32.

33.

34.

fedasR o fae s HT e & 8 2

(A)  Alehel o1 BHT T (Free)

(B)  Srrerrt Hefie

(C) TR 1 Ufekd T U b1 T8 T of ST
(D) ATehel i S AR T AR T&1 HL HAKAT R |

TR T YUt <t e Iu-Tomfera shi THeisy :
(a) THI U AT <F IT-JUTTeA]
(b) NI TR IT-TOTTeA

A T’ 1 Y G | A He T qUT HYU Ut e H STaNg hifg |

(a) TG Tsh ol TRTTNG HITT TuUT Teh i@ieh wsh H HfRIfod STl bl
HHATST |
A
(b) ARl crETR JUITCR o TREITCcHeh 1Y o &9 § “TTHTE TR qT ‘ST 3Aftee’
%1 379 T HifT |

39 3TYfg T T FARY AN 9 Tohe Bl & IS T e (Whid) A9 A8 Fan | Ieor
HIRT o o7 Fr31fig HO wxiiferd 6l <1 whd1 2 |
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30. Which of the following is not the advantage of Pivot table ?
(A) Filtering of data
(B) User-friendly
(C) Moving rows to columns and columns to rows

(D) Cannot summarise large amount of data

31. Explain the following sub-systems of Accounting Information System :
(a) Purchase and Accounts payable sub-system

(b) Costing sub-system.

32. Give the meaning of ‘Cell reference’. Differentiate between ‘Relative Cell
reference’ and ‘Absolute cell reference.’

33. (a) Define Accounting cycle and state the phases involved in an
Accounting cycle.

OR

(b) Explain the meaning of ‘Password Security’ and ‘Data Audit’ as
security features of Computerised Accounting System.

34. Name the error which appears when the cell reference is not valid. State
how this error can be corrected.
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MARKING SCHEME
STRICTLY CONFIDENTIAL
(FOR INTERNAL AND RESTRICTED USE ONLY)
SENIOR SCHOOL CERTIFICATE EXAMINATION, 2023
SUBJECT NAME: ACCOUNTANCY (Subject Code 055)
QUESTION PAPER CODE 67/5/3

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession. To
avoid mistakes, it is requested that before starting evaluation, you must read and understand
the spot evaluation guidelines carefully

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to public
in any manner could lead to derailment of the examination system and affect the life and
future of millions of candidates. Sharing this policy/document to anyone, publishing in any
magazine and printing in News Paper/Website etc may invite action under various rules of
the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be
done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating, answers
which are based on latest information or knowledge and/or are innovative, they may be
assessed for their correctness otherwise and due marks be awarded to them.

The Marking scheme carries only suggested value points for the answers.These are in the
nature of Guidelines only and do not constitute the complete answer. The students can have
their own expression and if the expression is correct, the due marks should be awarded
accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator
on the first day, to ensure that evaluation has been carried out as per the instructions given in
the Marking Scheme. If there is any variation, the same should be zero after deliberation and
discussion. The remaining answer books meant for evaluation shall be given only after
ensuring that there is no significant variation in the marking of individual evaluators
Evaluators will mark( vV ) wherever answer is correct. For wrong answer CROSS ‘X” be marked.
Evaluators will not put right (v')while evaluating which gives an impression that answer is
correct and no marks are awarded. This is most common mistake which evaluators are
committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly
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8 If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly

9 If astudent has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11 A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the
answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every
day and evaluate 20 answer books per day in main subjects and 25 answer books per day in
other subjects (Details are given in Spot Guidelines)

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

e Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

e Wrong question wise totaling on the title page.

e Wrong totaling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for incorrect
answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it should be
marked as cross (X) and awarded zero (0) marks

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all concerned,
it is again reiterated that the instructions be followed meticulously and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for
spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the
title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment
of the prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners
are once again reminded that they must ensure that evaluation is carried out strictly as per
value points for each answer as given in the Marking Scheme.
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PART A
(ACCOUNTING FOR PARTNERSHIP FIRMS AND COMPANIES)

(a) Q. Nita and Samar are partners .......c.cceeeeeeerveeennns 1
mark
Ans. (A)--33,00,000
OR OR
(b) Q. Bina and Ria are partners .......cccccecueereccurrnenns 1
mark
Ans. (A)--3:2:3
Q. Nita, Suman and Harish ..........ccceeeeruueeene.
1
Ans. (A) -- Suman’s Loan Account mark
Q. Assertion (A) : Partnership is the .......ccocceeveverveenecreennens
1
Ans. (D) -- Both (A) and (R) are correct and (R) is not the correct explanation of (A) mark
Q. Khushi, Namita and Manvi were partners ......c...ccceeeerveeeneene
1
Ans. (D)--% 8,750 mark
Q. An equity share of .........cccceecrreeneneee
1
Ans. (A)--% 4 mark
Q. 200 equity shares of .........ccccecueerueeenne
1
Ans. (B)--3 1,600 mark
Q. Indu, Vijay and Pawan were partners .........cccceccereeeenne
Ans. (D) 1
JOURNAL mark
Date | Particulars L.F. Dr. Cr.
Amount (%) | Amount ()
Investment Fluctuation Reserve A/c Dr. 80,000
To Investments A/c 10,000
To Indu’s Capital A/c 28,000
To Vijay’s Capital A/c 21,000
To Pawan’s Capital A/c 21,000
(a) Q. Amit, Sumit and Kiara are partners .........cccceceeevueeennes
1
Ans. (A)--31,20,000 mark
OR OR
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(b) Q. P, Qand R are partners ......cccceeeeevveeraeens

Ans. (B) —
JOURNAL 1
Date | Particulars L.F. Dr. Cr. mark
Amount (I) | Amount ()
P’s Current A/c Dr. 3,000
To Q’s Current A/c 2,000
To R’s Current A/c 1,000
Read the following hypothetical situation .........................
9 | Q. The partnership deed provided ............cccceuuun..e.
1
Ans. (C)--% 20,000 mark
10 | Q. The average number of months ............cccceeeueenne
1
Ans. (B) -- 4 %5 months mark
11 | (a) Q. Aysha Ltd forfeited .........ccceerueerercnnne 1
mark
Ans. (A)--35,50,000
OR OR
(b) Q. Which of the following statements is true ......cc.ccecceeeeereevenrnnen.
1
Ans. (C) -- The company cannot raise more capital than the amount of capital as specified mark
in the Memorandum of Association
12 | (a) Q. L, M and N are partners .........cccceerveeeunrenes
Ans. (D)
JOURNAL
Date | Particulars L.F. Dr. Cr.
Amount (%) | Amount ()
General Reserve A/c Dr. 2,00,000
Profit and Loss A/c Dr. 4,00,000
To L's Capital A/c 3,00,000
To M'’s Capital A/c 1,80,000 1
To N’s Capital A/c 1,20,000 mark
OR OR
(b) Q. X, Y and Z are partners ......cc.cceereeerrerenene.
1
Ans. (C) -- Crediting it to Revaluation Account mark
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13 | Q. Aditya, Abhinav and Ankit were partners ........cceceeeveeereenne
1
Ans. (A)--342,000 mark
14 | Q. On dissolution of the partnership firm ........ccccecvviveiiunnne
1
Ans. (C)— Partners’ Capital Accounts mark
15 | (a) Q. The debentures which are .........cceeeevereeeneen. 1
mark
Ans. (C) -- Redeemable Debentures
OR OR
(b) Q. Which of the following statement is incorrect ...........cccccceeueenuen.
1
Ans. (B) -- Debentures cannot be issued at discount mark
16 | Q. Premier Auto Ltd .........ccccceeueennenn.
1
Ans. (D) -- 4,000 mark
17 | (a) Q. Tarun, Abhishek, Kamal and Vivek were partners ......c.ccccceeceveerceerrecceennns
Ans.
Books of Tarun, Abhishek, Kamal and Vivek
JOURNAL
Date Particulars L.F. Dr. Cr.
Amount(Z) | Amount(3)
2022 Abhishek’s Capital A/c Dr. 75,000
March 31 | Vivek’s Capital A/c Dr. 1,50,000
To Kamal’s Capital A/c 1,50,000 1%
To Tarun’s Capital A/c 75,000 2
(adjustment for goodwill in gaining
ratio on Kamal’s retirement)
Working +
Old Ratio — Tarun: Abhishek: Kamal: Vivek = 5:3:2:2
New Ratio - Tarun: Abhishek: Vivek =1:1:1
Gaining Share of Tarun = New Share — Old Share
=1/3-5/12
= (-) 1/12 {sacrifice} 1%
Gaining Share of Abhishek = New Share — Old Share
=1/3-3/12
=1/12 {gain}
Gaining Share of Vivek = New Share — Old Share
=1/3-2/12 =
=2/12 {gain} marks

Kamal’s share of Goodwill = 2/12 x 9,00,000 =¥ 1,50,000

67/5/3 Page 5 of 20




OR OR
(b) Q. Atul and Geeta were partners ..........cccceeeeeeereveeiencenns
Ans.
Books of Atul and Geeta
JOURNAL
Date | Particulars L.F. Dr. Cr.
Amount(3) Amount(3)
Cash or Bank A/c Dr. 20,000 1%
To Atul’s Capital A/c 12,000
To Geeta’s Capital A/c 8,000
(cash brought in by Atul and Geeta for
capital adjustment on Ira’s admission)
+
Working
Old Ratio = Atul : Geeta = 3:2
Ira admitted for 1/4 share
Remaining Share for Atul and Geeta = 1-1/4 = 3/4
New Share of Atul= 3/5x3/4=9/20
New Share of Geeta = 2/5 x 3/4 = 6/20
New Ratio = Atul : Geeta : Ira = 9:6:5
Total Capital of New Firm =3 40,000 x 4 =3 1,60,000
Atul Geeta
Amount (%) Amount (%) 1%
New Capital 72,000 48,000
Less Existing Capital 60,000 40,000 =
Cash Brought In 12,000 8,000 marks
18 | Q. Aayush and Aarushi are partners.........ccccccvrveerrrercerecnns
Ans. Average Net Profit =3 20,000
Normal Profit = Normal Rate of Return x Capital Employed
Normal Profit = 10 x 50,000 = T 5,000 ......cccevvereereriererrrreecreeeerereenenes (1/2)
100
Super Profit = Average Net Profit — Normal Profit
= 20,000 - 5,000
= 05,000 ..ottt et s st (1/2)
Goodwill of the firm = Super Profit x Number of Years’ Purchase ................ (1/2)
=15,000 x 3
=X 45,000 ...ooecvieereierie ettt st s r e s r e eraes (1/2)
3
Goodwill Premium brought by Naveen =1 x 45,000 =% 11,250 ............... (1) marks

4
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19

(a) Q. Asha, Disha and Raghav were partners

Ans.
Profit and Loss Appropriation Account
Dr. for the year ended 31°t March 2022 Cr.
Particulars Amount | Particulars Amount
®) X)
To Profit transferred to Partners’ By P&LA/c 1,20,000
Capital A/c (Net Profit) (1/2)
Asha 40,000
(-) guarantee to Raghav 8,000 32,000 | (1/2)
Disha 60,000
(-) guarantee to Raghav 12,000 48,000 | (1/2)
3
Raghav 20,000 marks
(+) guarantee from Asha 8,000
(+) guarantee from Disha 12,000 40,000 | (1%)
1,20,000 1,20,000
OR OR
(b) Q. Akhil and Nikhil were partners..........cccceeeerveeererrreeceeenene
Ans.
Profit and Loss Appropriation Account
Dr. for the year ended 31t March 2022 Cr.
Particulars Amount | Particulars Amount
®) X)
To Salary By P&LA/c
Nikhil’s Current A/c 9,200 9,200 Net Profit 1,20,000
(1/2) (+) Nikhil’s Salary 9,200 1,29,200
To Interest on Capital (1/2)
Akhil’s Current A/c 6,000
Nikhil’s Current A/c 4,800 10,800
(1) 3
To Profit transferred to Partners’ marks
Current A/c
Akhil 65,520
Nikhil 43,680 1,09,200
(1)
1,29,200 1,29,200
20 | Q. Neon Ltd. purchased assets worth .........cccecevrveerecerceereeens
Ans.
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Books of Neon Ltd.

JOURNAL
Date | Particulars L.F. Dr. Cr.
Amount(3) Amount(3)
Assets A/c Dr. 18,00,000
To Liabilities A/c 2,00,000
To Zenith Ltd. 15,00,000
To Capital Reserve A/c 1,00,000
(business of Zenith Ltd. taken over
at < 15,00,000)
Zenith Ltd. Dr. 3,00,000
To Bills Payable A/c 3,00,000
(accepting a bill payable for X 3,00,000)
Zenith Ltd. Dr. 12,00,000
To 10% Debentures A/c 10,00,000 | |1x3
To Securities Premium A/c or 2,00,000
Securities Premium Reserve A/c =
(10,000, 10% debentures of ¥ 100 each marks
issued at a premium of 20%)
21 | Q. Shiv Ltd. was registered with an authorized capital ......ccccceecerveeerercneecnnenen.
Ans.
Books of Shiv Ltd.
BALANCE SHEET as at ........ (Extract)
Particulars Note No. Amount ()
| EQUITY AND LIABILITIES
1. Shareholders’ Funds
a. Share Capital 1 7,78,000 1
Notes to Accounts: - *
Particulars Amount )
1. Share Capital
Authorized Capital
90,000 Equity Shares of ¥ 10 each 9,00,000 1
Issued Capital +
80,000 Equity Shares of ¥ 10 each 8,00,000 1
+
Subscribed Capital
Subscribed and Fully Paid Up
75,000 Equity Shares of ¥ 10 each 7,50,000 1/2
+
Add: Share Forfeiture A/c 28,000 ‘1‘/2 =
7,78,000 marks
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Q. P, Q and R were partners ......ccccocceerveeeereeneerenneecennse

Ans.
Dr. Q’s Capital Account Cr.
Particulars Amount | Particulars Amount
X) &)
ToQ’s 1,97,000 | By Balance b/d (1/2) 1,25,000
Legal Representatives A/c By General Reserve A/c (1/2) 50,000
(1/2) By Interest on Capital A/c (1/2) 3,750
By P’s Capital A/ (1/2) 8,000
By R’s Capital A/c (1/2) 4,000
By P&L Suspense A/c (1) 6,250 4
1,97,000 1,97,000 marks
Working Notes
e Interest on Q’s Capital = 1,25,000 x 12/100 x 3/12 =% 3,750
e Q’s Share of Profit = 1,25,000 x 62,500 x 2 =% 6,250
5,00,000 5
Note — No marks for working notes
23 | (a) Q. Vani Limited invited applications ..........cccccevceevrrcerveennne.
Ans.
Books of Vani Ltd.
JOURNAL
Date | Particulars L.F. Dr. Cr.
Amount (X) | Amount ()
Bank A/c Dr. 6,00,000
To Equity Share Application & Allotment A/c 6,00,000 1/2
(application amount received on 1,50,000
shares) +
Equity Share Application & Allotment A/c  Dr. 6,00,000
To Equity Share Capital A/c 3,00,000 1
To Securities Premium A/c or 1,00,000
Securities Premium Reserve A/c
To Calls in Advance A/c 2,00,000
(application amount transferred to equity
share capital, securities premium and calls in +
advance)
Equity Share First Call A/c Dr. 4,00,000
To Equity Share Capital A/c 4,00,000 1/2
(first call amount due on 1,00,000 shares) .
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Bank A/c Dr. 1,99,200
Calls in Advance A/c Dr. 2,00,000
Calls in Arrears A/c Dr. 800
To Equity Share First Call A/c 4,00,000
(first call amount received, calls in advance
adjusted and calls in arrears debited)
Equity Share Capital A/c Dr. 2,800
To Share Forfeiture A/c 2,000
To Calls in Arrears A/c 800
(400 shares forfeited due to non-payment of
first call)
Bank A/c Dr. 1,600
Share Forfeiture A/c Dr. 400
To Equity Share Capital A/c 2,000
(reissue of 200 shares at X 8 per share fully
paid)
Share Forfeiture A/c Dr. 600
To Capital Reserve A/c 600
(gain on 200 reissued shares transferred to
capital reserve)
OR
(b) Q. Pass necessary journal entries ........ccccoeeeeeerceeceerernenns
(i) Books of Vipin Ltd.
JOURNAL
Date | Particulars L.F. Dr. Cr.
Amount ) | Amount ()
Equity Share Capital A/c Dr. 1,00,000
To Share Forfeiture A/c 80,000
To Calls in Arrears A/c or 20,000
Share Second and Final Call A/c
(10,000 shares forfeited due to non-payment of
second and final call of ¥ 2 per share)
Bank A/c Dr. 42,000
Share Forfeiture A/c Dr. 18,000
To Equity Share Capital A/c 60,000
(reissue of 6,000 shares at X 7 per share fully
paid)
Share Forfeiture A/c Dr. 30,000
To Capital Reserve A/c 30,000

(gain on 6,000 reissued shares transferred to
capital reserve)

marks
OR

1x3

marks
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(ii) Books of Deepak Ltd.
JOURNAL
Date | Particulars L.F. Dr. Cr.
Amount () Amount )
Equity Share Capital A/c Dr. 6,400
To Share Forfeiture A/c 4,000
To Calls in Arrears A/c or 2,400
Share First Call A/c
(800 shares forfeited due to non-payment of first
call of ¥ 3 per share))
Bank A/c Dr. 9,600
To Equity Share Capital A/c 8,000
To Securities Premium A/c or 1,600
Securities Premium Reserve A/c
(reissue of 800 shares at ¥ 12 per share fully 1x3
paid) =
marks
Share Forfeiture A/c Dr. 4,000
To Capital Reserve A/c 4,000
(gain on 800 reissued shares transferred to capital (3+3
reserve) =
marks)
24 | (a) Q. Kamal, Rahul and Neeraj were partners ........ccoceecverueeveernens
Ans.
Dr. Revaluation Account Cr.
Particulars Amount () | Particulars Amount ()
To Stock 10,000 | By Creditors 10,000
(1/2) (1/2) .
10,000 10,000
Dr. Partners’ Capital Accounts Cr. +
Particulars Kamal Rahul Neeraj | Particulars Kamal Rahul Neeraj
X) X) X) X) X)
To Rahul’s By balance 1,20,000 | 1,20,000 | 1,20,000
Capital A/c 75,000 30,000 b/d
(1/2) (1/2)
To Rahul’s By General
Loan A/c 2,61,000 Reserve 60,000 36,000 24,000
(1/2) Alc (1)
To Cash A/c 54,000 | By Kamal’s
(1/2) Capital 75,000
Alc (1/2) 5
By Neeraj’s
Capital 30,000
A/lc (1/2)
By Cash A/c 45,000
To balance (1/2)
c/d 1,50,000 60,000 -
(1/2) marks
2,25,000 | 2,61,000 | 1,44,000 2,25,000 | 2,61,000 | 1,44,000
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(b) Q. Ashish and Vishesh were partners

Ans.
Books of Ashish and Vishesh
JOURNAL
Date | Particulars L.F. Dr. Cr.
Amount (Z) | Amount ()
2022 | Cash or Bank A/c Dr. 1,50,000
April To Manya’s Capital A/c 1,00,000
1 To Premium for Goodwill A/c 50,000
(capital and premium for goodwill amount
brought by Manya)
” Premium for Goodwill A/c Dr. 50,000
To Ashish’s Capital A/c 30,000
To Vishesh’s Capital A/c 20,000
(premium for goodwill amount distributed
between sacrificing partners in sacrificing
ratio)
” Outstanding Electricity Bill A/c Dr. 20,000
To Cash or Bank A/c 20,000
(outstanding electricity bill paid off)
” Revaluation A/c Dr. 12,000
To Stock A/c 12,000
(value of stock reduced by % 12,000)
” Ashish’s Capital A/c Dr. 7,200
Vishesh’s Capital A/c Dr. 4,800
To Revaluation A/c 12,000
(loss on revaluation distributed between
old partners in old ratio)
” Ashish’s Capital A/c Dr. 6,000
Vishesh’s Capital A/c Dr. 4,000
To Profit and Loss A/c 10,000

(existing loss distributed between old
partners in old ratio)

1x6

marks

25

Q. Pass necessary journal entries for the following

Ans.

67/5/3

Page 12 of 20




Books of Kavita and Suman

JOURNAL
Date Particulars L.F. Dr. Cr.
Amount (¥) | Amount ()
2022 | (a) Kavita’s Capital A/c Dr. 90,000
March To Realisation A/c 90,000
31 (stock taken over by Kavita at ¥ 90,000)
" (b) No Entry - -
" (c) Suman’s Capital A/c Dr. 17,000
To Realisation A/c 17,000
(unrecorded asset taken over by Suman
at I 17,000)
" (d) Realisation A/c Dr. 2,000
To Kavita’s Capital A/c 2,000
(realization expenses X 2,000 paid by
Kavita)
" (e) Realisation A/c Dr. 21,000
To Bank A/c 21,000
(bank loan of ¥ 21,000 paid off)
” (f) Kavita’s Capital A/c Dr. 3,500 1x6
Suman’s Capital A/c Dr 3,500
To Realisation A/c 7,000 =
(loss on dissolution transferred to marks
partners’ capital accounts in old ratio)
26 | Q. Chiranjeevi Limited issued ......c..cccceevrrrerevnnene.
Ans.
Books of Chiranjeevi Ltd.
JOURNAL
Date | Particulars L.F. Dr. Cr.
Amount () | Amount )
a) Bank A/c Dr. 2,20,000
To Debenture Application & Allotment A/c 2,20,000
(application money received on 2,000
debentures)
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Debenture Application & Allotment A/c Dr.
Loss on Issue of Debentures A/c Dr.
To 10% Debentures A/c
To Securities Premium or
Securities Premium Reserve A/c
To Premium on Redemption of Debentures A/c
(application money transferred to debentures
a/c, securities premium a/c and provision for
premium on redemption of debentures made)

b) Bank A/c Dr.

To Debenture Application & Allotment A/c
(application money received on 2,000
debentures)

Debenture Application & Allotment A/c Dr.
Loss on Issue of Debentures A/c Dr.
To 10% Debentures A/c
To Premium on Redemption of Debentures A/c
(application money transferred to debentures
a/c and provision for premium on redemption
of debentures made)

Note — Full credit to be given if student has
debited Discount on Issue of Debenture Account
and Loss on Issue of Debenture Account
separately.

c) Bank A/c Dr.
To Debenture Application & Allotment A/c
(application money received on 2,000
debentures)

Debenture Application & Allotment A/c Dr.
Loss on Issue of Debentures A/c Dr.
To 10% Debentures A/c
To Premium on Redemption of Debentures A/c
(application money transferred to debentures
a/c and provision for premium on redemption
of debentures made)

2,20,000

10,000

1,90,000

1,90,000
30,000

2,00,000

2,00,000
20,000

2,00,000
20,000

10,000

1,90,000

2,00,000

20,000

2,00,000

2,00,000
20,000

1x6

marks
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PART B
OPTION -1
(ANALYSIS OF FINANCIAL STATEMENTS)

27 | Q. The current assets of X Ltd. ......cccecueeveecurrenees
1
Ans. (B) --< 3,00,000 mark
28 | (a) Q. Which of the following are not tools .........ccccecceeruriunnne 1
mark
Ans. (C) -- (ii) and (iii)
OR OR
(b) Q. Which one of the following statement ...............ccccceu....... 1
mark
Ans. (B) -- Current ratio is also known as Acid Test Ratio
29 | Q. Which of the following activities are operating .......ccccceeeeuuenne 1
mark
Ans. (D) — (ii) and (iii)
30 | (a) Q. Which of the following transaction will result ............cccccceeuenne
1
Ans. (C) -- Acquisition of machinery by issue of equity shares mark
OR OR
(b) Q. Match the transactions given ..........ccccceeveeeueeneenee
1
Ans. (B)-- (a) (b) (c) mark
(i) (i) (iii)
31 | Q. Under which heads and sub heads. .........ccccccceereeennnnns
Ans.
S.N. | Item Major Head Sub Head 1/2
a Loose Tools Current Assets Inventories X
b | Callsin Advance Current Liabilities Other Current Liabilities 6
Capital Reserve Shareholders’ Funds | Reserves and Surplus =
marks
32 | Q. Itis the process of identifying ......cc.cccceevreverrvenene.
Ans.
e Analysis of Financial Statements (or Financial Statement Analysis) 1
+
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e Objectives of Analysis of Financial Statements (any two)

1) To assess the current profitability and operational efficiency of the firm as a whole as
well as its different departments so as to judge the financial health of the firm.

2) To ascertain the relative importance of different components of the financial position of
the firm.

3) To identify the reasons for change in the profitability/financial position of the firm.

4) To judge the ability of the firm to repay its debt and assessing the short-term as well as
the long-term liquidity position of the firm.

marks

33

(a) Q. From the following information, calculate ............ccceueuueunes

Ans.
Inventory Turnover Ratio = Cost of Revenue from Operations ........ccceeeeeeeee (1/2)
Average Inventory

Revenue from Operations =< 10,00,000

Gross profit = 20% of Revenue from Operations
= 20% of 10,00,000
= 2,00,000 ....oooveerieereierie ettt s s r e s e r s enaer s (1/2)

Cost of Revenue from Operations = Revenue from Operations — Gross Profit
=10,00,000 - 2,00,000
010 X010 I (1)

Now, Inventory Turnover Ratio = 4 times

4 = 8,00,000
Average Inventory

Average Inventory = 2,00,000 ........ccccueveeeeeeeeerereneee s (1/2)

Average Inventory = Opening Inventory + Closing Inventory
2
2,00,000 = 1/4 Closing Inventory + Closing Inventory
2
4,00,000 = 1/4 Closing Inventory + Closing Inventory
4,00,000 = 5/4 Closing Inventory
Closing Inventory = ¥3,20,000  ....cccooeveveeeveeereeerecereeeeeeevenenens (1)

Opening Inventory = 1/4 x 3,20,000
= T 80,000 ottt e (1/2)

(b) Q Debt-Equity Ratio of Z Ltd. is ......cccceeerrervernnee.

Ans

marks
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S.N. | Effect on Ratio | Reason 1/2
I Decline Decrease in Debt and Increase in Equity x 8
li No Change No change in Debt and No change in Equity
lii Decline Decrease in Debt and No change in Equity =
iv No Change No change in Debt and No change in Equity marks
34 | Q. Read the following hypothetical text and answer the questions ...............cccceuuun.ee.
Ans.
Dr. Machinery Account Cr.
Particulars Amount ) | Particulars Amount )
To Balance b/d 20,00,000 | By Accumulated
Depreciation A/c 20,000 1
To Statement of P/L (gain) 30,000 | By Bank A/c (sale) 4,10,000
To Bank A/c (purchase) 12,00,000 | By Balance c/d 28,00,000
32,30,000 32,30,000
+
Dr. Accumulated Depreciation on Machinery Account Cr.
Particulars Amount () | Particulars Amount )
To Machinery A/c 20,000 | By Balance b/d 60,000
To Balance ¢/d 90,000 | By Depreciation A/c 50,000 1/2
1,10,000 1,10,000
Cash Flow from Investing Activities +
Particulars Amount )
Purchase of Machinery (12,00,000)
Sale of Machinery 4,10,000
Net cash used in investing activities (7,90,000) 1%
Cash Flow from Financing Activities +
Particulars Amount )
Redemption of 11% Debentures (20,00,000)
Premium on Redemption of 11% Debentures (2,00,000)
Interest Paid on 11% Debentures (5,50,000) T™—1 4+
Issue of equity share capital 30,00,000 —_| 1+
Dividend paid on Equity Shares (3,00,000) ~ 1
Net cash used in financing activities (50,000)
Note — If an examinee has prepared Machinery Disposal Account, due credit is to be given. :1arks
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PART B
OPTION - I
(COMPUTERISED ACCOUNTING)

27 | (a) Q. Which of these ......cccceevevrrreeennen. 1
mark
Ans. (B) -- Value-when-false
OR OR
(b) Q. How many blank worksheets ...........cccceeereerecnene. 1
mark
Ans. (A)--Three
28 | (a) Q. Maximum number of characters ............cccceeeeueuee. 1
mark
Ans. (C)--64
OR OR
(b) Q. Which one of the following command ............cccceceeveecuenee 1
mark
Ans. (A)-- Undo
29 | Q. Codes comprising of alphabets ......................
1
Ans. (D) -- Mnemonic Codes mark
30 | Q. Which of the following is not the advantage .........ccccecveecrerrcennne
1
Ans. (D) -- Cannot summarise large amount of data mark
31 | Q. Explain the following sub systems...............
Ans.
(a) Purchase and Accounts payable Sub-system :
It deals with the purchase and payments to the creditors. It provides for ordering
of goods, sorting of purchase expenses and payment to the creditors. It also
generates periodic reports about the performance of suppliers, payment 1% x
schedule and position of the creditors. 2
(b) Costing Sub-System marks

It deals with the ascertainment of cost of goods produced. It has linkages with
other accounting sub-systems for obtaining the necessary information about cost
of material, labour and other expenses. this system generates information about
changes in the cost that takes place during the period under review.

32

Q. Give the meaning of “Cell reference”. ........ccceeeccrrenenene

Ans
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Cell reference

o A cell reference identifies the location of a cell or group of cells in the spread sheet 1
and is also referred as a cell address. Cell references are used in formulas, functions,
charts, other Excel Commands and also refer to a group or range of cells.
Relative cell Reference Absolute cell Reference +
By default cell reference is relative which Absolute cell reference consists of the
means that as a formula or function is column letter and row number
copied and pasted to other cells the cell surrounding by dollar ($) signs. It is 2
references in the formula or function used when we want a cell reference to
change to reflect the new location. stay fixed on specific cell, which means
that when a formula or function do not
change.
marks
33 | (a) Q. Define Accounting cycle ........ccceerereuvennnne
Ans.
Accounting Cycle
Accounting Cycle means the process involved in identifying, measuring and 1/2
communicating the information.
+
The basic phases of the cycle are as follows:
e Business transactions are analysed
e The transactions are recorded in the journal
e Journal entries are posted to the ledger accounts
e Accounts are reviewed and the necessary adjustments made. 3%
e Adjustments are posted in the ledger to prepare adjusted trial balance.
e Adjusted trial balance is used to prepare the Balance Sheet and Profit and Loss
Account =
e Financial statements are prepared from the finally adjusted ledger and marks
balancing the accounts
OR OR
(b) Q. Explain the meaning......cccceeeerveereverevanene
Ans.
Password Security
Password is widely accepted security control to access the data. Only the
authorised person can access the data. It ensures data integrity. It uses a binary 2
encoding format of storage and offers access to the database.
+
Data Audit
Audit feature of accounting software provides the user with administrator right 2
in order to keep track of unauthorised access to the database. It’s an audit for
the correctness of the entries. =
marks
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34

Q. Name the error which appears ......cccceceerveerrreecrennne

Ans.

The error is known as REF ! Error.

This error is corrected by:

(i)  Click the cell that displays the error, click the button that appears and
then click Show Calculations Steps if it appears.
(ii)  Review the following possible causes and solutions :

Deleting cells referred to by other formulas, or pasting moved cells
over cells referred to by other formulas.

Change the formulas, or restore the cells on the worksheet by clicking
undo immediately after we delete or paste the cells.

Using an object-linking and Embedding (OLE) link to a program that is
not running.

Start the program.

Linking to a Dynamic Data Exchange (DDE) topic such as “system” that
is not available.

Make sure that we are using the correct DDE topic.

Running a macro that enters a function that returns # REF!

marks
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